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are the smallest living cells.

q9d Bid sitfaa Bifiere |

A. Amoeba

B. Paramecium
C. Mycoplasma
D. Fungi
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The temperature of a liquid is 32°F what is the

temperature in Celsius scale?
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A.32°C
B.0°C
C.100°C
D. 212°C
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A. Plantae
B. Animalia
C. Fungi

D. Protista
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Source: LearjetMinako, CC BY 3.0 <https://creativecommons.org/licenses/by/3.0>, via Wikimedia Commons
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is the largest animal Phylum.
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regulates the muscular
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movement for locomotion.

_________ god & fae 9eita nfd o fHdfAa

Parts of the Human Brain
i

A. Cerebellum (3IHIIISD)

B. Medulla (ﬂ§?|'|)
C. Thalamus (3¥9)

D. Cerebrum (HHIRASDH)

parietal lobe

occipital lobe

cerebellum



Involuntary actions in our body are
controlled by

A. Cerebrum (HHRSDH)
B. Cerebellum (3JHIRASP)
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D. Medulla Oblongata (ﬁ§FIT EIS[GIULE)
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Que: What is not true about temperature?

A. Itis one of the seven SI base quantities

B. Itis measured in degrees Celsius in the SI unit.
C. Temp 0 Degree C=273.15 K.
D. All are true.
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A. Mercury thermometer

B. Platinum Resistance thermometer
C. Thermoelectric Pyrometer
D. None of these
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Que: What s a triple point of water :

A. 0.01 degree C
B. 100 degree C
C. 1000 degreeC
D. 50 degrees
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Que: Dinosaurs were-

. Mammals that became extinct

Large herbivorous creatures which gave rise to Hippopotamus species

Egg-laying mammals
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. Reptiles that became extinct
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Name the particle that is most essential to continue the

chain reaction during the fission of Uranium-

A. Electron
B. Proton
C. Neutron

D. Positron
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D. Carbonic acid.
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Which of the following are water-soluble vitamins?
usr: fRufafda # § BH-3 5t A gaeita faerfdT 82
(a) Vitamin A
(b) Vitamin B
(c) Vitamin C
(d) Vitamin D

Select the correct answer using the code below:

A. candd
B. a,bandc
C. aandd

D. bandc
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What is the famous 'Chipko’' movement

associated with?

A. Saving the tigers
B. Saving the wetland
C. Trees

D. None of these



Wit v sete e SeT am

What is the famous 'Chipko’' movement

associated with?

A. Saving the tigers
B. Saving the wetland
C. Trees

D. None of these



cite & UTg B! gaT # 57T P & fofe GAT & 3maadsdr gldl 8-

The rusting of iron metal in air needs both-

A. Carbon dioxide and Moisture
B. Water and Paint
C. Oxygen and grease

D. Oxygen and Moisture



cite & UTg B! gaT # 57T P & fofe GAT & 3maadsdr gldl 8-

The rusting of iron metal in air needs both-

A. Carbon dioxide and Moisture
B. Water and Paint
C. Oxygen and grease

D. Oxygen and Moisture



diie ®I NeaATsiT & e JEu $9 9 YRy Uig &

The metal chiefly used for galvanizing iron is:

A. Zinc
B. Mercury

C. Cadmium
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B. H,SO,
C. HNO,
D. H,PO,
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Q. An atom can achieve octet by

I. Sharing electron
II. Gaining electron
I11. Losing electron

(a) Only I and II (b) Only I and III

(c) Only II and III (d) All I, IT and III
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Tartaric Acid is not found in .

A. Tamarind

B. Grapes

C. Unriped mangoes

D. Spinach
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as environment friendly?

A. Reduce - Reuse - Recycle
B. Reduce - Reuse - Reutilize
C. Recollect - Reuse - Reutilize

D. Reduce - Renew - Reutilize
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C. Humidity is 100%
D. Temperature is 100°C
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Que: Vegetables are cooked in lesser time by adding
a pinch of salt while cooking because.

A. Boiling point of water increases
B. Latent heat of vaporization of water decreases
C. Latent heat of vaporization of water increases

D. Boiling point of water decreases



If the velocity of a body is doubled, its momentum
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D. becomes 4 times
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A plant bearing both male and female flowers on the

same specimen plant is called
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B. Dioecious B. §I€I'||iiﬂll
C. HAsfGag

C. Monoecious

D. MR

D. Monogamous
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A. Biological Oxygen Deficit

B. Biological Oxygen Difference
C. Biological Oxygen Demand

D. Biological Oxygen Distribution
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C. Conc.HCl:Conc.HNO3; = 3:1
D. Dil.HCIL:Dil.HNO3 = 3:1
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A. Cortex
B. Pericycle
C. Epidermis

D. Endodermis



Root hairs arise from

A. Cortex
B. Pericycle
C. Epidermis

D. Endodermis



g Bh gl

Wheatis a .

A. Creeper
B. Herb

C. Shrub
D. Tree



g Bh gl

Wheatis a .

A. Creeper
B. Herb

C. Shrub
D. Tree



R¥bea faerfd-st ot vt F SR arer AT 81
g g HPT # yM1fdd Fdr &-

Rickets is the deficiency disease of vitamin-D.

It affects in the part of-

A. SKin
B. Hair
C. Bone
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when lift moves up with uniform velocity ?
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A. Weight Increases
B. Weight Decreases
C. Weight remains same

D. Can’t say
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C. 0.097
D. 0.97
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The numerical ratio of displacement to

distance is

S o = »

always less than 1
always greater than 1

always equal to 1

. may be less than 1 or equal to one
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